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(1) PASCAL

program main(input,output);
i: integer;

procedure p(s);
j: integer;

function f(x);
k: integer;
begin
kKi=x*1i;
return(k)
end;

begin {of p }
IRIOF
if j > 5 then return;
else begin

S:=s+1;

p(s);

end
end; { of p}

procedure q();
begin
i:=i+l;
end;

begin{ of main}
ii=2;

p(1)

end.
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la=1

2 b=2

3 L1: ¢ = atb
4 d = c-a

5 L2: d = b*d
6 if d=0 goto L3
7 d = atb

8 e = e+l

9 goto L2

10 L3 b = atb
11 e = c-a

12 if e>0 goto L1
13 a = b*d

14 b = a-d

(2-1)

la=1
2b=2




3 Ll:c=atb
4d=c-a

5 L2:d=b*d
6 if d=0 goto L3

v

7d=a+b
8e=etl
9 goto L2

10 L3 b=atb
lle=ca
12 if e>0 goto L1

v

13 a=b*d
14 b =a-d

(2-2)

(dominator tree)
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(2-4)
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la=1
2b=2

) 4
3 Ll:c=atb

4d=c-a

TIA5  [2:d = b*d
: .,AG if d=0 goto L3
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v

7d=a+b
8e=e+tl
9 goto L2

lle=c-a

10 L3 b=atb

12 if e>0 goto L1 !

v

13 a=b*d
14 b =a-d
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